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a2471 J03284265 270ct11 (AST) Stokesl freq:4892.
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Q2471 J03284265 270ct11 (AST) StokesQ freq:4325.
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Q2471 J03284265 270ct11 (AST) StokesU freq:4325.
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Q2471 J03284265 270ct11 (AST) StokesU freq:4892.
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a2471 J03284265 270ct11 (AST) StokesV freq:4325.

20

millidy
o
é

—10E
7205 1 1 1 1 1 1
0 100 200 300 400 500 600
tmResSecs: 0.900 sample points
scanfitDeg:2 02471 J03284265 270ct11 (AST) StokesV freq:4466.
20: T T T T 4
1oF- 3
> E
= omwwwwmwwwwwwwvwwmwww
S F =
1oE- E
7205 1 1 1 1 1 1 E
0 100 200 300 400 500 600
sample points
a2471 J03284265 270ct11 (AST) StokesV freq:4608.
20: T T T T 4
1oF- 3
> E
= O T AWV AN I A AP A A AP A Y Ao M AR N AN A AN M A AT IVAAAN A it A
S F =
1oE- E
7205 1 1 1 1 1 1 E
0 100 200 300 400 500 600
sample points
a2471 J03284265 270ct11 (AST) StokesV freq:4750.
20: T T T T 4
1oF- 3
> E
= O B A e P AN A A A A VA AN AN VS, Mg NN At ot i
&

I
(@)
HHH\H‘HHHH
HHH\H‘HHHH

—20 L L L L I I

100 200 300 400 500 600
sample points

O



a2471 J03284265 270ct11 (AST) StokesV freq:4892.
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